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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
| each sentence. Then mark the correct choice on your answer sheet.

1- These who fail to ——--—— with the law will be fined.
1) resolve 2) obstruct 3) trigger 4) comply

2- A contract can be by agreement of the parties involved.
1) declined 2) terminated 3) disembarked 4) collapsed

3- Over a period of years, the ———— of the drug in the body will damage the nervous
system.
1) allocation 2) subordination 3) accumulation 4) compensation

4- Firefighters needed modern breathing to enter the burning house,
1) survival 2) infrastructure 3) apparatus 4) eriterion

5 Adults, by of their greater experience, are able to reason about more things
than adolescents can.
1) virtue 2) analogy 3) sphere 4) vision

6- The tourist industry requires that the country’s cultaral -——— be made more
accessible.
I) mode 2) integrity 3) flaw 4} asset

7- This car design makes the —-——— use of the available space and so is better than the
previous one.
1} optimal 2) contemporary 3) emergent 4) neutral

8- They made a very -- decision, ie. there was no common agreement on it, so they
have since regretted it.
1) diverse 2) controversial 3) successive 4) eventual

9- The evidence is detailed enough to the author’s conclusion.
1) sustain 2) intensify 3) comprise 4) incline

10- The audience listened as the scientist on her new theory.
1) conceived 2) accompanied 3) committed 4) expounded

| PART B: Grammar

! Directions: Read the following passage and decide which choice (1), (2), (3), or
| (4) best fits each space. Then mark the correct choice on your answer sheet.

Supercomputers are the largest, fastest, and most powerful computers. There are only a few
mmdred of them in the world. They consist of several processors, (11) ---------- can work on a
different part of a task (12) ———------ same time and at the rate of millions of instructions (13) --
—— second. They arc used for extremely complicated calculations. Weather forecasting,
where a mass of data has (14) ————— quickly, is a good example of where a supercomputer
can be helpful. Data on temperature, pressure, wind speed and direction, rainfall, and cloud
cover is collected from (15) ---ssas=es sites, and the computer sorts it, compares it with data in
its memory, and makes predictions.
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11- 1) that each 2) which each 3) each of those 4)each of which
12-1) at 2) for 3) for the 4) at the
13-1)in 2) per 3) via 4) at
14- 1) to process 2) processed 3) to be processed 4) being processed
15-1) a large number of 2) great number

3) the large number of 4) large number

| PART _- : Reading Cnmprehmsinn

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits §
. mcﬁ space, Tﬁan mark ﬂ‘m mrm:.t c&ame on your answer sheel.

PASSAGE 1:

The year 2001 witnessed a series of financial information frauds involving Enron Corporation,
auditing firm Arthur Andersen, the telecommunications company WorldCom, Qwest and
Sunbeam, among other well-known corporations. These problems highlighted the need to
review the effectiveness of accounting standards, aunditing regulations and corporate
govemance principles. In some cases, management manipulated the figures shown in financial
reports to indicate a better economic performance. In ofhers, tax and regulatory incentives
encouraged over-leveraging of companies and decisions to bear extraordinary and unjustified
risk.

The Envon scandal deeply influenced the development of new regulations to improve the
reliability of financial reporting, and increased public awareness about the importance of
having accounting standards that show the financial reality of companies and the objectivity
and independence of auditing firms.

In addition to being the largest bankruptcy reorgamization in American history, the Enron
scandal undoubtedly is the biggest andit failure. The scandal caused the dissolution of Arthur
Andersen, which at the time was one of the five largest accounting firms in the world. It
involved a financial scandal of Enron Corporation and their auditors Arthur Andersen, which
was revealed in late (2001, After a series of revelations involving irregular accounting
procedures conducted throughout the 1990s, Enron filed for Chapter 11 bankruptey protection
in December 2001,

One consequence of these gvents was the passage of Sarbanes-Oxley Act in 2002, as a result of
the first admissions of fraudulent behavior made by Enron. The act significantly raises criminal
penalties for securities fraud, for destroying, altering or fabricating records in federal
investigations or any scheme or attempt to defraud shareholders.

16- What does the passage mainly discuss?

1) Auditing Regulations 2) Accounting Scandals

3) Bankruptey Reorganization 4) Financial Corporations

17- It is mentioned in the passage that Enron Corporation, auditing firm Arthur Andersen, the
telecommunications company WorldCom, Qwest and Sunbeam were ———-————--—-- financial
information ——————.

1) put ontrial - frauds 2) arrested for — deceits

3) prosecuted for — cheatings 4) engaged in — deceptions
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18- According te the passage, the scandals in 2001 ~————,
1) involved only changing the figures

2} did not involve only showing a better economic performance
3) involved only over-leveraging of companies and decisions
4) did not involve bearing extraordinary and unjustified risk

19- IT ihe awthor is right, then the Enron
1) upgraded accounting standards to show its financial reality

2) offence brought about new regulations to improve the authenticity of financial reports
3) established new auditing firms to prove their objectivity and independence

4) developed new regulations to improve the reliability of financial reporting

20- What does audlf in line 10 refer to?

1) examine records or financial accounts to check their accuracy

2) take a course at university without intending to take examinations in it

3) attend a course without requesting or receiving academic credit

4) manipulate accounts to indicate a better economic performance

21- What was the by-product of the bankruptey reorganization of the Enron Corporation?

1) the financial scandal of Enron 2) the biggest accounting firm in the world
3) the irregular accounting procedures 4) the dissolution of Arthur Andersen

22- The word securifies in line 20 is closest in meaning to ——————.

1) pledges 2) safety measures and protections

3) stocks and bonds and shares 4) puarantecs

PASSAGE 2:

In the Qur’an, the word account (Arabic: hesab) is used in its generic sense, relating to one's
obligation to account to God on all matters pertaining to human endeavor. According to the
Qur’an, followers are required to keep records of their indebtedness (Sura 2, ayah 282), thus
Islam thus provides general approval and guidelines for the recording and reporting of
trangactions.

The Islamic law of inheritance (Sura'4, ayah 11) defines exactly how the estate is calculated
after death of an individual. The power of testamentary disposition is basically limited to one-
third of the net estate (i.e. the assets remaining after the payment of funeral expenses and
debts), providing for every member of the family by allotting fixed shares not only to wives
and children, but also to father and mothers. The complexity of this law served as an impetus
behind the development of algebra (Arabic: al-jabr) by the Persian mathematician Muhammad
ibn Musa al-Khwarizini and other medieval Islamic mathematicians. Khwarizmi's The
Compendious Book en Calculation by Completion and Balancing (Arabic: Hisab al-jabr w’al-
mugabala, Baghdad, c. 825) devoted a chapter on the solution to the Islamic law of inheritance
using linear equations. In the 12th century, Latin translations of al-Khwinzmi's Book of
Addition and Subfraction According to the Hindu Calculation (Arabic: Kitab al-Jam? wa-l-
tafiiq bi-Hisdb al-Hind) on the use of Indian numerals, introduced the decimal positional
number system to the Westerm world.

The development of mathematics and accounting was intertwined during the Renaissance.
Mathematics was in the midst of a period of significant development in the late 15th century,
Hindu-Arabic numerals and algebra were introduced to Europe from Arab mathematics at the
end of the 10th century by the Benedictine monk Gerbert of Aurillac, but it was only after
Leonardo Pisano (also_known as Fibonacci) put commercial arithmetic, Hindu-Arabic
numerals, and the rules of algebra together in his Liber Abaci in' 1202 that Hindu-Arabic
numerals became widely used m Italy.
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While there is no direct relationship between algebra and bookkeeping, the teaching of the
subjects and the books published addressed the same group, namely the children of merchants
who were sent to reckoning schools (in Flanders and Germany) or abacus schools (known as
abbaco in Italy), where they learned the skills useful for trade and commeree. There is probably
no need for algebra in performing bookkeeping operations, but for complex bartering
operations or the calculation of compound interest, a basic knowledge of arithmetic was
mandatory and knowledge of algebra was very useful.

23- What would the best topic be for the above passage?

1) Islamic Accounting and Algebra 2) Islamic Law of Inheritance

3) Development of Accounting 4) Medieval Islamic Mathematicians

24-"Which of the fellowing is related to saccounting according to the Quran?

1) Followers are required to register their indebtedness.

2) Muslims have the necessary guidelines to report their daily conducts.

3) Followers are demanded to account to God on their endeavor.

4) Muslims have the approval to record their daily behaviors.

25- The word transaction in line 4 is closest in meaning 80 —-———————,

1) conduct 2) account 3) deal 4) record

26- Accerding ito the Islamic law of inheritance, one-third of the assels remaining after the

payment of funeral expenses can ——-——c—emie,

1) serve as tangible proof or evidence

2) provide for the disposition of a person's property

3) be specified by the covenant between God and man

4) be determined by the person's will

27- The Islamic law of jurisprudence ————-——-—- fixed shares to every member of the family
including wives, children, fathers and mothers.

1) arrogate 2) confiscate 3) allocate 4)) retain

18- If the author is right, then linear equations and decimal positional number system were

introduced to the Western world by the ——————=—— of al-Khwiirizmi.

1) two books

2) Book of Addition and Subtraction According to the Hindu Calculation

3) Compendious Book on Calculation by Completion and Balancing

4) translations of Kitab al-Jam? wa-1-tafriq bi-Hisab al-Hind

19- When did Hindu-Arabic numeral become common in Italy?

1) at the end of the 10" centuty by a Benedictine monk

2) in 1202 by Fibonacci

3) in 1202 by Gerbert of Aurillac

4) at the end of the 10™ eentury by Leonardo Pisano

30- The author finally coneludes that mathematics was ———————-,

1} voluntary forcomplicated operations in bookkeeping

2) compulsory for complex operations in exchanging goods and services

3) optional for complex operations in exchanging goods and services

4) mandatory for complicated operations in bookkeeping
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